Bt HEIEHSDK
IRz B FAI9344buildroot/package/rockchip/rockchip_test/rockchip_test.mk

ROCKCHIP_TEST_NPU_TARGET = npu
endif

-ifeq ($(BR2_PACKAGE_RKNPU)$(BR2_PACKAGE_RKNN_DEMO),Yy)
+ifeq ($(BR2_PACKAGE_RKNPU2),Yy)
define ROCKCHIP_TEST_INSTALL_NPU_TARGET_CMDS
rm -rf ${TARGET_DIR}/rockchip_test/npu
cp -rf $(@)/$(ROCKCHIP_TEST_NPU_SOURCE)
${TARGET_DIR}/rockchip_test/$(ROCKCHIP_TEST_NPU_TARGET)
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cd rockchip_test

./rockchip_test.sh

[root@RK356X:/1# cd rockchip_test/
[root@RK356X: /rockechip_test]# s
NOTICE bluetooth cpu gpu rockchip_test.sh

audio camera ddr npu2 suspend_resume
auto_reboot chromium flash_test recovery_test video
[root@RK356X: /rockchip_test]# ./rockchip_test.sh I
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[root@RK356X: /rockchip_test]# ./rockchip_test.sh
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ddr test : (memtester & stressapptest)

cpufreq test: (cpufreq stresstest)

flash stress test:

bluetooth test: (bluetooth on&off test)

audio test:

recovery test: (default wipe all)

suspend_resume test: (suspend & resume)

wifi test:

ethernet test:

auto reboot test:

ddr freq scaling test

npu test

npu2 test (rk356x)

camera test (use rkisp_demo)

video test (use gstreamer-wayland and app_demo)

gpu test (use glmark2)

chromium test (chromium with video hardware acceleration)

nand power lost test: 18
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npu stress test: 1
npu scale frequency test:
rknn demo test:
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input tensors
&g FESE index=0 name=input n_dims=U dims=[3 224 224 1] n_elems=150528 size=150528 fmt=0 type=2 qnt_type=2 f1=0 zp=0 scale=0.007812
8 192168145 output tensors:

g P index=0 name=MobilenetVl/Predictions/Reshape_1 n_dins=2 dins=[0 0 1001 1] n_elens=1001 size=2002 fmt=0 type=1 qnt_type=2 fl=0 zp=0 scale=1.000000
8 152168.1.30 rlan_run

8 192.168.1.95

8 232

8 485

8 bari 0.077576

8 hisi 0.017227

O npu denug 880: 0.615472

@ NPU DEBUG I RKNN: set log level to 0

8 zemnczeaxe model input num: 1, output num: 1

index=( e=input n_dims=4 dims=[3 224 224 1] n_elems=150528 size=150528 fmt=0 type=2 qnt_typ =0 zp=0 scale=0.607812
output tensors
lobilenetVl/Predictions/Reshape_1 n_dims=2 dims=[0 © 1001 1] n_elems=1001 size=2002 fmt=0 type=1 qnt_type=2 f1=0 zp=0 scale=1.000000

: set log level to 0

model input num: 1, output num: 1

input tensors:

index=0 name=input n_dims=U dims=[3 224 220 1] n_elems=150528 size=150528 fmt=0 type=2 qnt_type=2 f1=0 zp=0 scale=0.007812

output tensors:

index=0 name=MobilenetV1/Predictions/Reshape_1 n_dims=2 dims=[@ @ 1001 1] n_elems=1001 size=2002 fmt=0 type=1 qnt_type=2 £l=0 zp=0 scale=1.000000

232 rknn_run

localhost
0
SERIAL

: 0.015472

serial//22 xtem  ©1g7G8 0381 288 - NUm
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nand power lost test: 18
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npu stress test: 1
npu scale frequency test: P

rknn demo test: 3
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I RKNN: set log level to ©
model input num: 1, output num: 1
input tensors:
index=0 name=input n_dims=t dims=[3 220 22U 1] n_elems=150528 size=150528 fmt=0 type=2 qnt_type=2 f1=0 zp=0 scale=0.067812
output tensors:
index=0 name=MobilenetV1/Predictions/Reshape_1 n_dims=; 8 8 1001 1] n_elems=1001 size=2002 fmt=0 type=1 gnt_type=2 f1=0 zp=0 scale=1.060000
rknn_run
=i Fops =
0.597656
©.227173
©.077576
0.017227
0.015472
[root@RK356X: /rockchip_test]# I




	
	

